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STATISTICS
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f General Instructions to Candidates :

® There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.

® You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with questions and to plan your
answers.

® Read the questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from
the same question itself.

® (Calculations, figures and graphs should be shown in the answer sheet itself.

® DMalayalam version of the questions is also provided.

® Give equations wherever necessary.

® [Flectronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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1. For a symmetric distribution the

coefficient of skewness is ..........
a) zero

b) one

c¢) less than one

d) greater than one

2. Calculate Bowley's coefficient of

skewness from the following

(1)

820

a0, symmetric distribution e
coefficient of skewness ...
@I

a) zero

b) one

¢) less than one

d) greater than one (1)

®OOY OBOSIETIRIBHIM WOoRWI@

mlamge Bowley's coefficient of

data : (4) skewness @6l llsles .. 4)
Value of product (in Rs.) | Frequency Value of product (in Rs.) | Frequency
Less than 50 40 Less than 50 40
50-100 80 50-100 80
100-150 130 100-150 130
150-200 60 150-200 60
200 and above 30 200 and above 30
3. a) The classification based on a) ‘‘coer’ MomNomensgleel
the "percentage of population MOSHO®IMoW]  IaWeQ|s
in respect of literacy of five LMaoely ®AOMo ’ afM®
states" is an example of ......... | ... Homlanlesnay m’
classification. ©B0aOEMAOEN).
1) geographical 1) geographical
i) qualitative i) qualitative
9 ch logical
iii) chronological i) chronologica
iv) quantitative (1)
1v) quantitative (1)
b) s, aelw QUIQUMOW

b) Draw a blank table to show
the number of employees in
a large firm, classified
according to .........

1) sex: male and female

KR-140
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1) sex : male and female



i1) Age groups : below 30, 30
and above but below 45, 45

and above

i11) Four income groups :
below Rs. 400, 400-750,
Rs. 750-1000,
Rs. 1000.

above

a) Compilation of National

Account is done by .........
1) CSO
i) NSSO
i11) MOSPI
iv) ISI
b) What are the main objectives

of Indian Statistical Institute
(ISI)?

Which is NOT a sample space?

a) The totality of all sample

points.
b) Collection of simple events.

c) The

conducted.

number of trials

d) Collection of compound

events.

Explain the following events and
display them through Venn

diagram.
a) Mutually exclusive events.

b) Union of two events.

KR-140

(4)

(1)

(2)

(1)

(2)

i1) Age groups : below 30, 30
and above but below 45, 45

and above

1) Four income groups

below Rs. 400, 400-750,
Rs. 750-1000, above
Rs. 1000. say blank table

®QOOOBEO)Hs.

a) National Account o

MA0ANO6Mo 6.21QAISIMEY:
1) CSO

i) NSSO

1i1) MOSPI

iv) ISI

b) Indian Statistical Institute
(IST)? wyes wom 9saguRyeBRd

Qg)BAVOOBHWOEN)?

a0, sample space @RLPEMHEY

a) aggo sample point &geswio

AN,
b) simple event ®e9s crosioemo.

¢) msewlw trial &6 og)emo

d) compound events ®g16s
8UVEUMO.

®oOeY  alo@imMm event &®d

Alweleeole) ®uew  Venn

diagram 06U0m®O

(ol &S1uS1e @638

a) Mutually exclusive events.

b) Union of two events.
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(1)

(2)

(1)

(2)
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Answer either question 7 or 8.

10.

Out of 25 employees of a
company, five are engineers.
Three employees are selected at
random. What is the probability
that ......

a) all the three are engineers?
b) none of them is an engineer?

c) at least one of them is an
engineer?

OR

A die is thrown twice. What is
the probability that .......

a) the sum of spots in two
throws will be a multiple of
five?

b) the sum of spots will be 5 or
less than 57

¢) both the time the die will
show up the same number of
spots and their sum 1is
divisible by 3?

If all values in a data are same,
then the value of any measure of
dispersion is .......
a) one
b) zero
¢) same as any single value

d) equal to the number of values

The range of a variable X is 3.
What would be the range of the
variable Y, where Y =-2x + 10?
a) 3 by 4

c) 16 d) 6

KR-140

(3)

(3)

(1)

(1)

7, 8 agmi saloayeBgl@ olom eomlmy
@O0 OBMOO ) FIi.

7.

10.

80} Smudlelenl 25 omovlengle.sld
5 cald agealldled morosm. 3
O ®o¥1eI08]8 608 OoMWmoW|
O ® OO ETH SO,
alOWIMQ WIS
(MoBOOUY@®) dHOEM s,

a) oymy 8aljo afeIMIAM0d

af)MOa @26y
probability

@B @I .

b) swnogjo a1 d
BRAUOBlH60M.

c) oneiesloo 80068851810
ag)er2lofl@ oo,

@ 62)81 @D

80} alals (die) eeng) @ausm ag)dl

60T AGHTNOE GOHY A IOWIMAUWIHS

probability ©:6me60e6w.

a) ©6R) ®AIM af)olenmBealovIes
spot e 5 ef
!EMIOROBIM B MNISE:

b) oflam (spot) emeles o 5 &0
BOONED BHIOCAUO BRBHIMEBIMBE:

C) ©6MB) alwslsdglo 86d allamensdd

@O W6S

& 8LOS

B 06M| 66 Qo
OHOW J 6H0NE aN@BeNI0ND
mowleemaimes:

80) WOoRWEeS afelo aflelsalo

®3e00103mMmoEd BOQUWYOS
dispersion &M@ op® ®@ogQlo:

a) emmn

b) ayesyo

c) & alleesaim el

d) coemwies alleie:des; ®elo

X ogom  ocloomled range 3
@@BHIMY.  efmo@ Y  agam
2lo@leo® range ag)moRildleno?
Y =-2x + 10 eosm.

a) 3 by 4

c) 16 d) 6
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11. The arithmetic mean and 11. eduoy aleegies  mean,
standard deviation of a set of 9 standard deviation @inowao 43,
items are 43 and 5 respectively. 5 agmlsmsemmost. 63 agm &y
If an item of value 63 is added to Aol oo aflee:aes @ s
the set, find t‘he‘ new mean and OBOISETWOR eldlenm anolw
standard deviation. (3 mean, standard deviation

)M &06M k. (3)

Answer either question 12 or 13. 12, 13 agar) calogymedl@ smlmy ao@o

OOBOO ) FIDBs.

12. The following data refer to the 12. A, B agml esne) excuilesgiers eoe
dividend (%) paid by two AfladSl®noem (@AOMETI@) ®oeY
companies A and B over the last 008 0TSO, (AT agys)
seven years. Cal?ul'ate the aldaemlmlsI®) coefficient of
coefficient of variation and variation emeeoss] a6
comment. (5) allei ooy, (5)

A 4 8 4 15 10 11 9
B:| 12 8 3 15 6 4 10
OR @68l @d

13. Calculate the Mean Deviation 13. ®oev ewosiedidesm data wes
(M.D.) from the median of the Mean Deviation (M.D.)
following data. (5) BMBBNE. (lallald mlmpe)  (5)
Income 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of persons | 10 15 15 23 22 19 12 4

14. a) Which one of the following is 14. a) ooy alo@im 1@

NOT a mnonprobability nonprobability sampling
sampling? LI ag®?
i) Quota sampling i) Quota sampling
i) Judgement sampling i) Judgement sampling
ii1) Stratified sampling iii) Stratified sampling
) ) ] iv) Convenient sampling (1)
iv) Convenient sampling (1)
b) 8r; gomlea 50 #5)eeldd
b) Outof 50 students in the class wlomo 5 alo® 80} il aadmo
5 Students haVe to be Selected m’]mo@ﬂ @@@@ms&@mm@om
in a quiz competition. How s, Lottery doll @omundlaf
will you select them by using Mae® @O0 ag@Eem
‘?
Lottery Method* 3) BODETDEBO0? (3)
KR-140 5 Turn Over



Answer either question 15 or 16.

15.

16.

Based on the following table,
find the probabilities given

15.

15, 16 ogyo sanaeyemsel@ savlm; ao@o

HOMRO )P

®ORY HROSIOBIBHHIM ISl oW

@oslmnnommoss], 21Q18S

below. 60:05)0wBleenm probability @
BEMBOOBOB>.
Course Sex | Male Female Total
Degree students 10 5 15
Higher Secondary students 20 15 35
Total 30 20 50
Find the probabilities of a) Male degree student
selecting : b) Female degree student

a) Male degree student

b) Female degree student

c) Higher secondary male
student
d) Higher secondary female

student

OR
a) If A and B are two events
such that

1

P(A)- 3

, P(B)== and
4
P(AUB)=2+. Find
12
P(A/B) and P(B/A).

b) A bag contains 5 red and
6 green cards. Two cards are
drawn from the bag one after

without

replacement. Find the

probability that both the

cards are green.

another

KR-140

(4)

(4)

16.

c) Higher

student

secondary male
d) Higher secondary female
student agamlauee e®osemHS]
#HIU0MI8E probability

BEMBNODNBs.
@ 62)81 @D
a) A, B agorl spoiaied
1 3

P(A4)=3. P(B)=.

P(AUB)== agal aflwor

ewer. P(A/B), P(B/A) e

BEMBEORE) .
b) 8ry suowl@ 5 apaimmio 6
ala|®@lo 0D OENE. ©eNe)
H0OWIBHD  smMImy  alloes
emo®l @lolal OUHOOH®
Af)SIOM. af)MOE BRA! NS0
ala] SHOAUWBD @DEIAI0MIBS

probability ©:6me60e6w.

820
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17.

18.

19.

20.

Data available in the records of
a company is categorized as :

a) Primary data
b) Secondary data
¢) Unreliable data

d) Manipulated data (1)
a) Categorize the following into
qualitative and quantitative
variables.
i) Number of pages in a
book.
i1) Intelligence of students
in the class.
iii) Per capita income.
iv) Grades of rubber.

(2)

b) Compare primary and

secondary data. (2)
Median is always same as .........

a) Mode

b) Second quartile

¢) Third quartile

d) Half of the number of values (1)

a) If a value in a set of values is
then
calculate the .......

i) Mean
i) Median
iii) Harmonic mean

iv) Mode

Zero, we cannot

(1)
b) The median of the values 11,
12,14, 18, x + 2, x + 4, 30, 32,

35, 41 is 24. Find «x. (2)

KR-140

17.

18.

19.

20.

820

80} HMUMWOS CRUBEIT rlIeymow
88 Wwog UdWledlofldlenma:

a) Primary data
b) Secondary data
¢) Unreliable data

d) Manipulated data 1)

a) ©®oeY alowymalew qualitative,
quantitative ogm dlaleicd

®d0 GIElH61.

1) 80) allV®HOmea Galey)
HBIOS ag)sMo.

1) gomileel )31 8)6S
61 a0l 0odrs).

111) (elludlday QIE@OMo.

1v) omydlen suae®. (2)

b) primary, secondary data &®d
®OO®AYe 6).21Q) .

(2)
dlalod aggjowileg oo @IRDOWEY
aR@IBMOS06M?.

a) Mode

b) Second quartile

¢) Third quartile

d) Half of the number of values (1)

a) 80) g0 allassl® 80y allel
a}RYDOWOM MDA &EMEHO
HDIU0M MOWlEHOTHEOE) ?

i) Mean
i) Median
iii) Harmonic mean

iv) Mode (1)

by 11,12, 14,18, x + 2, x + 4, 30,
32, 35, 41 agml allesgies
olawle® 24  @@eimy. X

(2)

6130151660168
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21. A group of 134 girls and 166 boys
appeared for an examination.
The boys obtained a mean score
of 68.5 and the mean score of all
the 64.35.

students was

Calculate the mean score for the

21.

820
134 oot &igleglo 166 @oed

BiSlglo @ISEBIM B0 (Via] 60}
Qe WD alOesSIenimM). @Y
@15 RDB6) LVEOUA] MEH00 68.5 oo
AfLIO ISl BEOIo Sl VLA
64.35 Bmo0o alElall. af)ssl@d

5016518816 WOl MIBE00

i 3
girls. ) B6MBEOL) ). (3
22. Calculate the mean and mode for 22. ®oey aowym alocemonle
the following distribution. (5) mean, mode agyomla
6130151660168 (5)
Production 21-22 23-24 25-26 27-28 29-30
No. of Days 7 13 22 10 8
23. a) Explain the importance of 23. a) Diagrams, graphs
diagrams and graphs. (2) HAUWIOS  (IOWOMIHED
flaf afloldleeye. (2)
b) From the following data, B0 alaldons
) ) b) ®oev cxowym Data @@ alomye
obtain the median
. 4) (oanlen @ Ol ol
graphically.
BEMBOOBE) 5. (4)
Weight No. of students
30-40 8
40-50 17
50-60 21
6070 12
70-80 2
Total 60

KR-140



Directorate of Higher Secondary Examination {Academic)

First Year Improvement Examination July 2017 Subject : STATISTICS
Q. Scoring Indicators Split Score | Total
No Score
1 a) Zero 1 1
2 Q1=78.125,Q2=119.23, Q3= 154.17 Sz = -0.0181 —vely Skewed 1+1+1+1 4
3 a) (i) Geographical or Qualitaive 1 1+4=5
b) Income Distribution of firm
Sex
Male Sub Female Sub
A8 iclowRs. | 400- [ 750- | Above | @' [Theiow | 400- | 750- | Above | Tt | Tow!
400 750 | 1000 | 1000 Rs.400 | 750 | 1000 | 1000
below 30
30-45
above 45
Total 2
Identifying captions and stubs 2
Any Appropriate table structure
4 a) (i) CSO 1 142=3
b) Origin or 4 objectives of ISl and related answer 2
5 ¢) The number of trials conducted 1 1
6 a) Definition or diagram or demonstration by example 1
b} Definition or diagram or demonstration by example 1 2
7 a) 5Cs/25Czor 0.0043 1
b) 20C;3/25Cs0r .4957 1 3
c) 1-20C3/25C;0r .5043 1
OR
8 a) 7/36=0.1944 1
b) 10/36=0.2778 1 3
c) 2/36=0.0556 1
9 a) Zero 1 1
10 b} 4 orsuitable answer 1 1
11 43X9+63 _450_, . 1
10 10 2 3
New IX? = 20835 standard deviation is 7.64 —full credit for finding correct mean
12 XA=871,6A=3.615CV A= 4148, Kh+l+ hh
X B =8.285,0B =4.02,CV B =48.52 Y +1+ % 5
Y score for finding each mean, 1 score for finding each SD, % Score for finding each CV
Company A is more consistent than Company B in its performance 1
OR
13 | Table 2
Median = 38.7 %
Finding MD 1892.2/120 = 15.76 2% 5
14 a) (iii) Stratified Sampling 1
b) Reasonable explanation give full score 3 4
15 a) 1/5=0.2 b)1/10=0.1 c) 2/5 =0.4d)3/10=0.3 1114141 4
OR
16 a) Writing formula of P(AUB) Y%

%




P(AB)=1/6=0.166
Formula of P(A/B) , P(A/B)=0.22
Formula o fP(B/A), P(B/A)= 0.5

6 5 _
a) X 0.27 or 6C,/11C,

Y
Y
%
2

2+2=4

17

b} Secondary data

1

18

a) (i) Quantitative (ii) Qualitative (iii) Quantitative (iv) Qualitative or dividing into two
division
b) Write proper comparison

VetV VotV

2+2=4

19

b)Second quartile

20

a) (iii) Harmonic Mean
b) Formula of Median for raw data or identifying middle terms
Finding value of x=21

1+2=3

21

Identifying as combined mean or writing formula
Total Mark of boys = 166x6805 =11371

Total mark of all students = (134+166)x64.5 =19350
Total Marks of Girls = 7934

Av. Marks of Girls = 59.2

OR

Give 3 scores to Final Answer

22

f

7 13 22| 10 8 | 2f=60

X

215 23.5]255|27.5[29.5

X.f

150.5 | 305.5 | 561 | 275 | 236 | 2X.f=1528

Table OR f=60, ZX.f=1528,
Formula of Mean
Mean =25.5

find

ing mean OR final answer 2%

identifying modal class

f0=

13, f; =22, f,=10, C=2 =25

Formula of mode
Calculation and final answer mode= 25.85(inclusive) OR 25.36 (exclusive)

2%+
2%.=5

23

a)any two Significance of diagrams or graphs or entry level

b)finding table of LCF and GCF

Drawing Ogives and finding approximate median=53

Upperit | LCF Lower Lt | GCF

40 8 30 60

50 25 40 43

60 46 50 22

70 58 60 10

80 60 70 8

2+4 =6
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